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0
oo
O000 OO0 000 OO0 0O0=The teacher is talking in the class (classroom).

oo
*O0000 g1 =speak, talk
* [te-form] O O 00 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

ooo ooooo

oooo oo
000000000 000 D000 00D =Which part do students study at home today? //

0ooo oooo ] gooooo ooooo

O0000ob 2000000 000000 000 21 ODODOO OOOO OO=Then,we

finished until page twenty today, so page twenty one is your homework.
* 00O =then, if that is the case,

* [sentence] O O = because [sentience], [sentence], so (therefore, that's why)
*O0=...,isntit?7;....., am | right? <confirmation particle> //

poooooao oooo

000 21 0000 10000=No, (your homework) is No.1 at page twenty one. //

ooo

20000000 0000 = Regarding No.2, we will do it in the class. //

oooo oo ooo oo oo oo oo

000 0000000 0000 000 0000 =Atthe socks shop, the woman and the clerk

(salesman, shop assistance) are talking together.
*O0000 g1 =speak, talk
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* [te-form] O O 00 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

ooo oo oooo O

0000 OO0 0DD0O O000D0D0O=Which shocks does the woman buy?
* 00 means ‘which [noun] and is always followed by a noun and is used to compare three
items and more. To compare two items, we should use ‘0 0 0 O [noun]. //

F:

ooo gooo

000 O0DO0O0D0O0O0ODO=Do you have shocks for children?
*0000 g1 =have, thereis [I, exist //

ooo

OO0 0000000 O 0000=(Would you like to have) long one or short one? //
* [adjective] O = [adjective] one, [adjective] thing

oooo 0 oooo 0

O0000 D000 0O OO0 0OD=We have the socks which have the picture of fruits and the

socks which has the picture of animals. (lit: We have the picture of fruits and the picture of
animals.)

000 O OD0O000O0O=Which is good for you? Which one would you like to get?
*[0 00 <polite expression>=1 0 0 (where) 2000 (whichway) 3 which <to compare
between two items>

F:
O00000O0=1 Let me see, ; Let me think, 2 That’s right. | agree with you.
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oooo

oo
0000 OD0O0O0O=Please give the animal one.
*[noun] O =1 [noun] one, [noun] thing 2 <used to show possession>
oo
*O 00 =please give me //

ooooo ooao ooo oo

oo
0000000 0000 OO0 0000 = Inthe hospital, the doctor and the woman are
talking together. //

ooo o

u]
i 0o i l
day?

oooo

*O00O =perday//

a
a
a
a
a
()
()
()
()
O
O

o

00O 0O 0O 0O =How many times does the woman take medicine a

ooo

oo oo oo O oo O
OO0 0000000000 000 bO000bO 00000 =Please take this medicine after

eating your meal (food) in the morning and at night.
*O 00 =<plain-style-nonpast-affirmative> of O [J [0 [0 g2 (eat)
oo

* [ta-form] O (O ) = after doing U

u] ]
*000 =te-formof OO 0O O g1 (drink)
* [te-form] O O O O = please do //

oo ]

OO0 0000 O 00000 =Please don'’t drink (take medicine) at noon.
*O 000 =<plain-style-nonpast-negative> of U U [0 [0 g1 (take)
*nai-form O00]0 OO0 O =please don’tdo O //
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000=0K.

M:

400 000 0000 O0O=Please drink (take medicine) for four days.
] O

*000 =te-formof OO 0O O g1 (drink)

* [te-form] O O O O = please do //

]

oo

Com

000000 =1understood. OK.

ooo

00 [ERE] [ERE] oo
0000000000 OD0000 000 0000 =Atthe department store, the woman and
the clerk (the person at shop) are talking together. //

aooo O

oo oo

O00O0 O0OD0O DODOODOO=Which bag does the clerk take?

* 00O means ‘which [noun]’ and is always followed by a noun and is used to compare three
items and more. To compare two items, we should use ‘0 0 0 O [noun]. //

F:
O000000=1Excuse me, 21am sorry./
oo oo oood O
0000 0000 000 O0000O=Please take that black bag above.
*000 =te-formof 0O 00O g1 (take)

*[te-form] O O 0O 0O =pleasedo O //
M:
O0000000=Whichoneisit?/
*0O 00O <polite expression>=1 00 (where) 2000 (whichway) 3 which <to compare
between two items>
00 DDDD 0 O OO0 0O=This small one?
* 00O [noun] = this [noun]
* [adjective] O = [adjective] one, [adjective] thing //
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OO000=No./

oo

000 0O 0O00=Big one.

* [adjective] O = [adjective] one, [adjective] thing //

ooooo oooo

gooogoono D OO0 0000 =The teacher is talking in the classroom. //

oooo ooo oo oo

Ooooob oo oo D 00 0O 0O O =What do students put on their desks? //

ooo oooo

OO0 ooOooooood DD 000 0000 000 =Inthis test, because there is a
questlon that you use a dictionary,

* D 0 = <plain-style-nonpast-affirmative> of D 00O gl =use

* [sentence] O O = because [sentience], [sentence], so (therefore, that’s why) //

ooo 0ooo

00 D Oooo D 00 00000 =please put your dictionary on your desk. (please take
your dictionary out (of your bag) and put it on your desk.)

* 5 00 =te-form =00 0O O g1 = take out, put out

*[te-form] O O 0O 0O =pleasedo O //

5/10



oooo 0

O
00 0000 0O 000 00000 =Please put your pencil and eraser as well. //
O
*000 =te-form=0 000 g1 = take out, put out
*[te-form] 0 O 0O 0O =pleasedo O //

ooo oo ]

0000000000 U000 UO0000=Please put your watch in your back.
O

*O00 =te-formof D OO O =putin

*[te-form] O O O O =pleasedo O //

goooo

000000000 000 0d=Sir (Teacher), what do we do with a notebook?
*0O0 =how//

ooo oo O

O000 0000 D00 00000 =Please put your notebook in your bag as well.
u]

*000 =te-formof D00 O =putin

*[te-form] 0 O 0O 0O =pleasedo O //

gooooooo goooo

oo oo oo
0000000000 DO00 OO0 ODOO O0000d=0nthe bus, the person from a travel
agency is talking to students. //

goooo

oa oag
OOO0OQ0OO0O0O0O OO Ooooog=What do students do at first? //
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oo oooo oo oo

OO0 100 0ooooo ogggood DDDDD We will have a dinner at the restaurant on

the ground floor from now. //

oo o

D 0 D O 7O0OO OO0 =The dinner will start at seven o’clock. //

00 00 b oooooo

O 60 50000 000000 D 00 0O0000O=Because it it six o’clock and fifty minutes
now, please go there right now (immediately).

O
*O000 =te-formof 0O OO g1 (go) //

ooao

DDD O DDDDDDDDDD DDD DDD DDDDD Regarding everybody’s baggage,
the people at the hotel carry them to your rooms.

] O O O
*O00 D000 =0000 g1 (hold, carry) + 0 0O OO g1 (go) = take, carry away

DDDD DDDD DDDD Ooooo 5 0 odd 5 [ DDDD 0 0O 00 0000 0O = After dinner, please watch
TV do shopping or do the things like that.

* D 0 = <pIa|n style-past-affirmative> of [0 00 0 sg2 (see, watch, look)

* D g D O O = <plain-style-past-affirmative> of U 0 O OO g3 (do shopping)

* [ta-form] O [ta-form] 0 O OO =do U, do 0 and do other things as well, do many things
such as doing [ and doing [

*[te-form] O O 0O 0O =pleasedo O //

ooo oo ooo oo oo

O000 0DD00O0 OO0 O0D0O0=The man and the woman are talking together. //

ooo oa oa O ]
O00 00 000 000000 =What does the man take (carry, bring along)?
a O O
*O00 0000 =0000 g1 (hold, carry) + D 000 g1 (go) = take, carry away //
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0O O0O0oao o oao O
o0oad 0000 O0O0O0O O0O=We are going to the sea next Sunday. //
oo O

O
OO0 000 0O00000 O00=What shall we take?
*[masu-form] O 00O 0O O =1 Shall we do O together? 2 Shall 1do O ?//

oo
O0O00O0D0d=Then, ... 1

Oom

ogd o g oo
OO0 0000 0O OO0 0000 = Please take drinks and snacks. //

M:
O000=0K. Yes. //
0000 O0OO0O0O0O O0d = Drinks and snacks, right? //

F:
00 O = Ah! (expression of surprise, recollection, etc.), Oh!/

oo oo

O
0000 ODDDOD O0=Drinks are heavy. //

DDDD 5 0o ood ED] 00 000 0O = Let’s buy (drinks) after arriving at the sea.
* 5 00 =te-formof 00O OO g1 (arrive, reach)

* [te-form] O O = after doing O

*[masu-form] O 0 0O 0O =1 Let’s do O together. 2 1shalldo O //
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O000000O=11agree with you. That’s right. 2 Let me see, ; Let me think, //

oo ooo oo oooo oo oo

000000000 0000000 000 O000=Atthe bus stop, the woman and the
person from a bus company are talking together. //

ooo oa oooo

O D OO0 oooooo D 0 O O O O = Which number of bus does the woman take?
* D 000 g1 =geton (train, plane, bus, ship, etc.), get in, board, take, embark //

oooo ooooo

000000100000 bOoo DDDDDD Excuse me, does the bus No.1 go to the
Midori (green) station? //

ooooo oooo ooo oooo

ooooooo DD OO0 300 500 7000 O0O=No, the uses which go to the Midori
station are No.3, No.5 and No.7. //

[0 00 = Ah! (expression of surprise, recollection, etc.), Oh!/

Oooo oooo o ooo

O00000 00000 DO0ODOsS00000 O00O0ODO0O=butbecause today is Sunday,

there is no bus No.5.
* [sentence] O O = because [sentience], [sentence], so (therefore, that's why) //

OO0000O0O=1see.Isthatso?//
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oooo oooo ooo oooo

oo oo
00 o0obo300 b0 gbodbo boobodbbon0 7000 ODO=AndNo.3runsin

the morning and in the evening, so only No.7 goes to the Midori station around this time.
*0O0O OO = after that, and also, | want to say one more thing

* [sentence] 0 00 = because [sentience], [sentence], so (therefore, that's why) //

O
0000000 =1understood. OK. /
O0000 O00O0O0O0=Thank you very much.
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